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AP CALCULUS AB
Unit 7 Review
Differential Equations and Mathematical Modeling

No calculator may be used on the foﬂowing prob.'ems T
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A graphing calculator may be used on the following problems.
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No calculator may be used on the following problem.

11.
Consider the differential equation % = (y —1)* cos(zx).
(a) On the axes provided, sketch a slope field for the given differential equation at the nine points indicated.

(Note: Use the axes provided in the exam booklet.) C - 1)1' (C%O) = l
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(b) There is a horizontal line with equation y = ¢ that satisfies this differential equation. Find the value of c.
(¢) Find the particular solution y = f(x) to the differential equation with the initial condition f(1) = 0.
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